Task one  In the following pairs, one sentence has parallel structure, and the other sentence lacks parallel structure. Mark the CORRECT sentence and EXPLAIN (say) why the other is INCORRECT.(6 Pts)
1.     A____ Jennifer is smart, beautiful, and loves everyone. 
                    B____ Jennifer is smart, beautiful, and caring.

1. A____ Andy’s day is so long that he gets up at 6:00 a.m., leaves for work at 6:30 a.m., is eating dinner at 11:00 p.m., and goes to bed at 2:00 a.m.
            B____ Andy’s day is so long that he gets up at 6:00 a.m., leaves for work at 6:30 a.m., eats dinner at               11:00 p.m., and goes to bed at 2:00 a.m.

1. A____ Bob was not only Sam’s roommate, but also he was his best friend. 
                     B____ Bob was not only Sam’s roommate, but also his best friend.

1. A_____ Most people play golf for pleasure, for exercise, and for social contacts. 
 B_____ Most people play golf for pleasure, for exercise, and so they can meet people.


1. A____ If you go to the store, please remember to pick up your prescription, buy some shampoo, and to look for a notebook.
                         B____ If you go to the store, please remember to pick up your prescription, to buy some shampoo,       and to look for a notebook.
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